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SOLUTIONS
Question 1.

a.

[image: image44.wmf](

)

3

2

1

3

3

3

2

1

1

2

Area24(1)

3

3

11

999(13)11

33

32

10.6667

3

xxdx

x

xxdx

units

-

-

-

=+-+

éù

=+-

êú

ëû

=+---+=-

==

ò

ò


(4 marks)     
b. 
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Standard deviation 
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(4 marks)     
c.
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(2 marks)     

Total 10 marks
Question 2. 
 (a)

X-height of males

     
[image: image7.wmf]2

~(174,8)

XN


[image: image41.wmf](

)

3

2

1

3

3

3

2

1

1

2

Area24(1)

3

3

11

999(13)11

33

32

10.6667

3

xxdx

x

xxdx

units

-

-

-

=+-+

éù

=+-

êú

ëû

=+---+=-

==

ò

ò


[image: image8.wmf](

)

190174

(190)

8

(2)

10.9772

0.0228

PXPZ

PZ

-

>=>

=>

=-

=


(3 marks)     
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(3 marks)     
Total 6 marks
Question 3. 
a.
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maximum and minimum values of C(t)

are given by 
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(3 marks)                                                          

b. 
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(3 marks)     
Total 6 marks
Question 4. 
a. 
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(2 marks)     
b. 
The range of  f is [1,().      

(2 marks)      

c. 
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(4 marks)    

d.
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 Now  change x by  y
(Inverse function of f is 
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(3 marks)  

Total 11 marks

Question 5
a. 
Since
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(3 marks)     
b. 
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(4 marks)                 

c.
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(4 marks) 

Total 11 marks

Question 6. 
Gradient of the left most line segment is
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Gradient of the middle line segment is 0.

Hence the equation of the derivative curve is  y=0 for 
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Equation of the parabola is 
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( The equation of the derivative curve is  
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 Derivative does not exists at the points  –6, 0, 2 and 6.
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(4 marks)     
b.
 Domain of the derivative function is 
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(2 marks)     
Total  6 marks
Question 7. 
(a)
Intersection points are given by
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(3 marks)                 

     (b)  
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(3 marks)                 

(c) 





















(4 marks)
Total 10 marks

Question 8. 

(a)
Vertical asymptote 
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   (4 marks)

(b)
Dilation parallel to 
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Translation down by factor 2 
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Translation to the right by factor 3 
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        (4 marks)

Total 8 marks
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